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WREAZa=TaE 52— 78168 8:40 0.041
BRFIASa=T1t5— 7R16H 8:55 0.089
mEA=T2a=T1tE 52— 7R16H 10:00 0.063
ERFAZ2=TaE 52— 78108 15:00 0.043
FEIZA=TAEVS— 78168 9:10 0.072
AFRIS =T 5— 78168 10:00 0.051
RAFEIZa=TA4EVS— 78128 9:15 0.078
FHRIAZTa=ZTaEUH— 78168 17:30 0.046
EEIZ2=TaEE— 78128 13:00 0.052
RBEEIZa=T4EVS— 78128 8:55 0.072
RHFIAZa=Ta4EV5— 78128 9:00 0.070
MEIZaAZTAEVS— 78128 8:58 0.075
KEFIAZaZToEUH— 78168 10:00 0.052
BN =T E— 7R16H 9:30 0.054
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W AZ2=Tr I F— 68 14H 10:00 0.039
BXRFEIS2=TsEU5— 6A14H 9:20 0.091
m&gI=Ta=T1E252— 68148 9:00 0.056
ERFAIZ2a=T1E2E2— 68138 13:00 0.043
BMEISA=T I 5— 68 14H 16:35 0.072
RIS =T o3 — 68 13H 15:30 0.051
RAEIZ2=TaEU5— 68 14H 11:40 0.068
FHRAZa=TaEV 57— 6817H 13:30 0.051
EREIZ2a =T E— 68148 9:00 0.061
REEI1Z 2T 5— 68 14H 9:30 0.068
REFEISa =Tt 5— 68148 9:30 0.083
RIS =TaE5— 68 14H 13:30 0.071
KEFIAZa=TaEIF— 68 14H 10:00 0.061
ENIZa=TaEVE— 68148 10:10 0.060




